OO00bOo0oboobooobOoo202200 ADDODoDoooO
000002230 103100500600000000010000000000

goooboboooboobooooon

gbooobooboobooooboboobobobooboboobobooobobbobooDbo

gbobooboobobooooooboo

o1

Uobobodl segOUOoooooooon
gobo30o00poboooboooboogn

(1) seq 0000000 COO0O0O0ODO minimum
00 100000000[Ap[Bpooooon
000

(2) 010 ninimm 0000000000 Oseq
ool maximum JO OO
Jooooooobobobboooooooon

3) 00 minimm 00 000000500000
n0000000000000N =1len(seq)d
00o0Oo0oDbOOo0obOo NOODODDhOoooooo
seqUUUUOODLOOOOOOOOOOOOOOO
ddooooooonon

(4)seq000002000000000000O
uboboboobog2000000000seq =
[3,2,1]0000000obooobooooon
20000000000

(5) N=1len(seq) DO0OODOOODOODODOOO
oo NOODbOoobooooooooobo
O000O0O00ODDDseqOOOO0O seqll]
gobooooobooon

(6) seq0 000020 0000000000O
U0o0ooobob 3000000000 seq =
[3,2,1] 000O0OOOOOOOOOOODOOO
UOmiOm20000000000

(7)0ODOD0O0O0O seq0 00002000
0000000000000000000000
0seq0000000000O0

(8)000000000000000 seq0O0
00000000000 4000[C|~[EDO
00000000[C0000000onnnoon
00000seq000000000000000
0000000000

def minimum(seq):
m = seql[0]
for i in range(l, len(seq)):
if | A ]
m= B |

return m

O 1: 00 minimum

def second minimum a(seq):
m2 = maximum(seq)
for i in range(0, len(seq)):
if m2 > seql[i] > minimum(seq):
m2 = seq[i]
return m2

U 20000000000

def second minimum b(seq):
ml = seq[0]
m2 = seql[0]
for i in range(0, len(seq)):
if seql[i] < ml:

m2 = ml

ml = seqlil
elif seq[i] < m2:

m2 = seqlil

return m?2

03 000000o00o0n

def second minimum b(seq):
C

for i in range( D
if seq[i] < mi:

E ):

b

m2 = ml

ml = seq[i]
elif seq[i] < m2:

m2 = seq[i]

return m2

U4 0000000000000



0og 2

ubooobn0000rn>1000000000000000000O0000O000O0O000O00O000OO
gobodboooobooboobobooboobbooboobboobooboboon

00000000 sO000000 s D0:00000000<:<n-—-1000000000O
gobooobooobboooboooboboobooobobooloobooooobooooo

(1)2000000000000CD0000O00O00O0Omergel 05000000000 O0O0ODOO
gboobobobobobobobobbox0Oyboboob10boboobooboboonoon
OO0O0OO000oboddbOUita.array.makeld(n) D nO00 0000000000 0O0000O0O

(2)00merged 20000 x0yO0OOO0OO00OO m,m 00000000000 mergel
ooboobDmO0Om 0000000

(3)00000sO00000000000O merge0 00000000000 OODOO mergeAlll
goeboonbobDon

() 0000000000 MOOOOOOOODOOO0OO0OOO mergeAll1 00000
UbomUdbOO0OOO0nO00DO0OD0OO

(h)OOOOOOO NOOOODOOOOOOOONOOODOODODOOOOOOODOOO
U0 mergeAll1 O UOD0O00O0ODOODOODOODOOOOO0OnOOD0O0O0 NODODOO
gboogoboboooobooboobooboobooboobooboobooong
oooooo NOODOOOoOOoOOo

(4) U0 mergeAlll 00D O0ODOUOOO0ODDODO 7TOODO mergeAll2 0000000 DOOO
sl : ylO0O0OsOx0000y—-10000000000DOOOCO0OODO

(a) mergeAll2(s) D0 DO DODOD0O0O mergeAll2 0000000000000 sOO
Un0000000

(b)) DOODDODOO0OO0O NOOOOODOOOODOODODOOO mergeAll20000000O N
bobod 00000000

def merge(x, y): def mergeAlli(s):
r = ita.array.makeld(len(x) + len(y)) r = s[0]
i=0 for i in range(0, len(s) - 1):
j=0 r = merge(r, s[i + 1])
for k in range(0, len(r)): return r
if (i >= len(x) or
(j < len(y) and x[il < y[j1)): O 6: 00 mergeAlll
rlk] -
’ B ‘ = ’ B ‘ +1 def mergeAl12(s):
else: n = len(s)
r[k] = C if n ==
’ D ‘= ’ D ‘ +1 return s[0]

else:
return r
return merge (mergeAl12(s[0 : n // 21),

0 5: 00 merge mergeAl12(s[n // 2 : nl))

O 7: 00 mergeAll2
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00000 az?4+br+c=00a#0,b> —4ac>000000000000000000000

(1) ADDO 8000 f100000000000000 az?+ber+c=0020000 ~bavP-de
sfsislsisfsisfsiuls)ulsln

() 00 f100040000000000000200000000000000
ooboobooo200000000000000bO000b0bOO000bO0bOo0ODDbO0OO
1~2000000000

(b) £1(1, -10000, 1) 00 O0O0O0OCOOOOOOOOOO

[9999.999899999999, 0.00010000000111176632, 0.0, -1.1176630732023796e-09]
ubooboobobboobobobobbobbobbobbobbobbOong
uboobi1~2000000000000000000O000O00O0O0OO0OObOObObOO

(2) BOOD AOODOOOOOOOOOOOODO9O0OOOD f200000000000000DODO
ar? +br+c=0020000 r,72000000m2,=c0000000000000

() 00 f20000 f1 0000000000000 O0O0O0OOOODODOOOOOO
ubbooboobbol~2000000000

(b) £2(1, -10000, 1) OOOOOf1(1, -10000, 1) OOOOOOOOOOOOO
ubboooboboooboooboboobooboboobooooboobooon

def fi(a, b, c): def f2(a, b, c):
d=(b*x2-4.0%*a*c) *xx 0.5 d=(b*x2-4.0%*a*c) *xk 0.5
x1=(b+d /a/2 x1=(b+d) /a/?2
x2=(b-d) /a/2 x2=(C-b-4) /a/2

rl = a *x x1 *x 2 +b *x x1 + ¢ if b > 0:

r2 = a * x2 % 2 +b * x2 +c x1=c/a/ x2

return [x1, x2, rl, r2] else:

x2=c/ a/ x1
rl =a *x x1 ¥« 2 + b *x x1 + ¢
r2 = a * x2 ¥« 2 + b *x x2 + c

return [x1, x2, rl, r2]

08 oo f1

0 9: 0o f2



